


. BY LYROA
. TH9| 21| %0 0|21} S0

—

* Nyz, =N_z_

SHAF M| Mo 2 =M

O O -

o

(el

g0

>
o

ctroneutrality)
£ 242N, N_



‘©
=
>
O
)
LH
LHo
Joifl
ol
0]
o
N
LN

(Ot H2 EYO0M) s =0 8=

L
—

IS0 3

£, y;(activity coefficient)

= SN0 A

=)
—=
vi=1

=
—



cm S PR ER AFRSHY,
*a; =yim;
- /28N M=y =1

* llm]/l=1 -> a; =m;
m;—0




5.2 0| 22| 23 T (activity, a)

. 012} 0|20 X T} (M, X, %)
« M,X, @ pM*t + gX*~
- GOl =285k m,
* m, =pm, m_=qm
* G; =G + RT Inm; : ideal
* G; =G/ +RTIna; : real
* G =pGy +qG_
=p(GY{ +RTplna,)+q(G°+RT plna_)
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e G =¢G° +RT1nai+q

= Go + RT ln(miyi )_i-l-q \
* G;=G{ +RTng; O|E=

* G; =G +RTInm; + RT Iny;

S B2 RAYME Y, =1

. 2UEDO 30|29 BRYSEAL,y,

0.927

0.901 0.769 0.606 0.576
HCI 0.966 0.928 0.904 0.830 0.796 0.809 1.01
CaCl, 0.888 0.785 0.725 0.57 0.515 0.71

CuSO, 0.74 0.53 0.41 0.21 0.16 0.047
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+ ex) YOI 2O F 0= S0|20] ROIS0f (p < 0, FO| 22 BE G, p= O RUE) BO{HSZp -0

« O|E O|2&2|7| (ionic atmosphere 22 ionic cloud)2t1 L.

« O[=2M|7| (ionic strength, I)
. I — lZmZZ

« [ = 1188 & (Kl &) 0| A= mobility, m 1t £ &
« | = 227381 (caso, &) WA= 4m
« &= 238181 E(AL(SO,), S) HAE= 15m
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5.3. Debye-Huckel
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53.1 0| 2EQ|7| D E I} =GHE 2 A

(87| ™ potential) 2| 2Kt =2t =
CU. I w2 _ (9%  9%°¢  0%¢
v-E=-Ve= <6x2+ay2+az2>
Poissonl Of| 0|5 H M 7| U p Of H| &t

&
1-DO| 70| 2} H,
1 0 ( 2 0 )_ p(1r)
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r2 or or e

« X|(x,y,2)0 LE H7|& EC| Hl=2 ¢




5.3. Debye-Huckel
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ChapmanO|E1t £
« M2 Ep(r)
e p(r)=N,z,e+ N_z_e
_zie¢ z;e z;e
« N,=NPe T ~N°(1 kT"’+2(kT"’)
e Taylor 747
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5.3. Debye-Huckel
. O|=

* p(r)=N,z,e+ N_z_e
e
= (NPzy + N°z_)e — (N+Z+ + NOz 2)3 ‘¢

e EMO| AL g = N; =m;Nyd ; Ny : Avogadro number
2IN 4de?

p=—""A2g
« Poisson 40| CH &,
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) r2 or (T' or ¢ Sc ¢

. £ 21NAde2 2
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5.3. Debye-Huckel
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62

2 (rg) = £(rp)

* solution of the PDE

s np = Ae + Ae ¥
¢ = Ar_ze—fr

s p= fzgi—ze_&
_ zie e¥To
27 ame 1+&r,
. 1, 0|22 20| HctA g

zie e (rO —T)/TD

¢ " 4me 1+1r, /7D
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. TD=1=< £ kT )2 ; Debye Length

2IN 4de?
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« ¢;: 0|2 XA 2| potential

Bam o : Ol == 77|01 22t
potential

* r/rp : dimensionless length

Patmo = ¢ — ¢;
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5.3. Debye-Huckel 0| £
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*Yi

Iny; =

* Iny; =

* Iny; =

H 5.2 0|2 M| 7| 0f| [tH2 Debye length (298K) =8 1, [mm] = 0.3051
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c F2T2U 6"%(2981() NaCl
e d =1.0x103kg/m3 __ (L1
« &, =8.854x 10712 N"Im2C? ¢, = 78.5
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* Inyy =—-1.172 |z, z_|I/? N
. _ 1/2 » | X \\\
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Fig. 5.3.1y, 2+ 19| 2t
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